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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVi
dFVo

—o—
+

18

16

14

12
day

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

S = — — OB — — JORBE — — DO — — — — MBS~ — — WHRI — — — MCHEC — — HOHC — — — IR~ — — YR — — WM — — K — — —HE

-
e~

ECB*10%

fz_stock _ec
ECC

SR — — — )P

-3 -
—
——

18

16

14

12
day

3250 -
3000 -
2750
2500
2250
2000
1750 ~
1500

IIIIIIIIIIIIIIIIIIIIIII L 2
||||||||||||||||||||||| - 2 S S A At = VS E DU SN [N, SDNSDN S— .- VSRR FESSSS (PSS [ WSS DN SNSO S v ) N
N N N N
] ) ) ) J
— — — —
ee]
—_
-
m
—~
| © | © | © | ©
— — — —
M i
—_
L < | < | < | <
| <
—
F N> N > F N > F N >
- © - © - © - ©
© © © ©
| N
L © L © L © | © —
— — — —
_A—
—
- o - ©O - o0 - ©O
L ©
—_
- © - © - © - ©
2 - ©0
o
*
[2a ] o => (@]
I )} [a 4 o =
a o (=) [T L Y=
o—
+ + [~ + [~ + [~ + [~ +
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
o (2] [o0] ~ © o o o o o Lo o Lo o o o o o o o [oe] ~ © o < ™ N — © < [9\] o [ee] © < [N}
N — — — — — — o o o o o o o o

day



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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M_W

540

545

550

42.

42.

41.

41.

40.

40.

39.

m=470, FV0=0

55 1

54 -

53 -

——

M_E

470

T
475 480

42

41 ~

40 -

39 A

MW

T
500

T T
600 700

m=630,m FV0=0

800

——

M_W

630

635 640

m=540, FV0=0

57 A

56

95 A

54 -

53 A

——

M_E

540

5&5
m=425,m FV0=0

T
550

40.5 A

40.0 A

39.5 A

39.0 -

——

M_W

425

450
m=745,n FV0=0

T
435

42.5 A

42.0 -

41.5 -

41.0 -

40.5 -

40. 0 -

39.5 -

——

M_W

745

750

755
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G3-2

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:35 87 70.0 15.12 FA| 1BRi&@06:35 B3 (KFAFEREE)
07:15 87 70.0 15.12 FA| 1Bzi%@07:15 B3h (RAB{EREE)
08:20 87 70.0 15.12 FE| 1BRi&@08:20 Bzh (RAAEREIZE)
09:05 87 70.0 15.12 FA| 1BRi%@09:05 B3h (FKA{EREEE)
10:00 87 70.0 15.12 FA| 1B2i%@10:00 B3h (RABIEREEE)
10:40 87 70.0 15.12 FA| 1BRi%@10:40 B3h (RAEREE)
11:20 87 70.0 15.12 FA| 1BRi&@11:20 B3h (RAHERESE)
11:55 87 70.0 15.12 FH| 1BRi&e11:55 Bzh (GRAERESE)
12:30 87 70.0 15.12 FA| 1BRi%@12:30 B3h (RABEREE)
13:05 87 70.0 15.12 FA| 1Ri%@13:05 B3 (KRAHEREE)
13:40 87 70.0 15.12 FA| 1BRi%@13:40 B3h (kAIEREE)
14:25 87 70.0 15.12 FA| 1BRi%@14:25 Bzh (RABERSE)
15:20 87 70.0 15.12 FA| 1BRi%@15:20 B3h (KRAHERSE)
16:20 87 70.0 15.12 FA| 1B2i%@16:20 B3h (kAIEREE)
2it] 1218.0 (14)%) 980. 0 EGHKEC: 2100.0, PH: 6.3

EREBRE L TR (0.52 vs 0.62), AIEEHR % HAEENEEBEEIKERE

MEALHLERE SFHEERT (60.0 :
ERGEBETCRIZIERIEN (116 vs 101.0))

EKIASEPRIEE80. 0 ml.
REXRSEBPH (10.35) 5IQTEPH (6.0) RERK, 1HRE
RERSEBPH (10.35) 5FEMPH (6.5) BEK L, FHRE
BEEIFRECE (1927.0 vs 3455.0)id7
EREEPH (10.4) 5i8FEE (6.3) REK A, BHRE.
EREBPH (10.4) S5REEY (6.3) RERK, FRE.

80.0), FIREKRFBERUE




G3-2_0, Day=18 (2025-05-30)

604 VI.VO,FRV,ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1200 1180
910 ” 41 1000 7
40 4 756 *
49 £
- 500 >
20 &
0 Warning: lcol [FVI',| "FVO’'] missing 33
0 - -0
100 4 455. 0
£ 751 - 52.5
©
= w
— 501 - 50.0 =
E
& 251 - 47.5
L
1.0 45.0
4
0.8 1
0.6
0.4 1
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2908 A
TargetEC=1800. 0, | TargetSetEC=2100. 0
2100 fr— —mm m
2000 - e e e e e e e e
1900 - ) °
1800 - - o ©
) ® o ®0 o o ° .
104 TargetPH=6.5, TargetSetPH=6.3 e 060¢ o —  PHBx10%
® PHC
8_
ettt ettt et e e e S S e s e et it ettt ettt
1
_ 2001 Bylni} @020 01:38: ET=1046 Fg=1200.0 Ro=234.0 1500 ~
5 | g
S 150 - s
= - 1000 >
< 1S
= 100 A £
E —
E - 500
m 907 3
OT=0 1 1] 21 3] 4] 5] 67 7] 81 9 [10] 11 [ 12]13] 14]15][16] 17 18] 19 2 [21]2[23]°
520125\ Z= | B | BF [ BF [ BB [ BB [R5 [ [R5 [R5 [R5 | RS | F5 | F5 | Fs | s | s | A5 | BF | BF | BE | BF | BE 1500 5
c 1 c
= 1504 ByEt @D18 16:07: ET=882 Fg=1180.0 Ro=nan - e e o =
2 i - 1000 >
< 1S
X 100 4 T E
= - 1
E —
— 50 a1 1hi B 1 500
’ 11 -~ °
OT=0 1 1] 21 3] 4] 5] 67 7819 [0 11 [ 12][13]14]1[16] 171819 [2]2 [22]2]°
520125 \%= | %= | A [ A [ FH [P [ B [ BH [ BF [ BA [ BA | BA | BA | BA | BA | BA | BA | BA | BA |ZR|ZE % A [1500
c 1 c
= 150 | ByWoFy @D20 01:38: ET=941 Fg=980.0 Ro=143.0 =
= I o—o—0—9 [ 1000 >
< 100 - &
£ —
E - 500 '
= 50 - 3
L o | o
WO T 11 2] 31 415761 78109 |10 [12] 13 [ 1415 16]17] 18] 102 ]2 [2]2]°
0slZ2z=|Z=|(%=| BB | BH [ FH | BA [ PH [ FA | BA [ PH | FH | BA [ PH | BH | BA [ PH | BH | BA [ BH |2 | 2[5 | KA
0.6
0.4 1
0.2 -

o | _obs

—@— PPFD obs

80

60

—— RH
o RH_obs
RHo_obs

e v P




T T T
600 800 1000

400
m=580,m FV0=0
54 - —o— ME
53 -
52 -
51 -
580 585 590
m=745,m FV0=0
54 -
—o— ME
53 -
52 -
51 -
745 750 755
m=875,m FV0=0
—o— ME
54 -
53 -
52 -
51 -

875 880 885

m=425, FV0=0
50 -
—o— MNE
49
48 -
47
T T T
425 430 435
m=635,m FV0=0
—o— ME
53 -
52 4
51 4
T T T
635 640 645
m=775,m FV0=0
541 —o— MNE
53 -
52 -
51 -
775.0 777.5 780.0 782.5 785.0
m=920,m FV0=0
55 1 —o— MNE
54 -
53 -
52 -
51 4

920 925 930

51.

50.

50.

49.

49.

48.

54.

53.

53.

52.

52.

51.

51.

53 A

52 ~

51 1

50 A

53 -

52

51 1

54

53 A

52

51 1

m=470, FV0=0
5 1
—o— ME
0 -
5 -
0 -
5 -
0 -
5 T T T
470 475 480
m=680,m FV0=0
54 1 —o— NE
53 1
52 4
51 4
680 685 690
m=805,m FV0=0
0 .
—o— WNE
5 -
0 -
5 -
0 .
5 -
0 -
805 810 815
m=970,m FVO=0
—o— NE
54
53 4
52 4

54

53 -

52

970 975 980

m=525, FV0=0

—0— ME
555 5(|‘>0 5:|35
m=710,m FV0=0
54 -&— ME
71|0 71|5 72|0
m=835,m FV0=0
/Q
8;35 8;10 8t|15
m=1035m FVO0=0
N
10|35 10|40 10|45



39.

39.

38.

38.

37.

37.

36.

40.

39.

39.

38.

38.

37.

40.

40.

39.

39.

38.

400

660 860
m=580,n FV0=0

——

5é5 560
m=745,n FV0=0

—— MW

i

750 765
m=875,n FV0=0

-— MW

?
?
?

880 885

39.

39.

38.

38.

37.

37.

40.

39.

39.

38.

38.

41.

40.

40.

39.

39.

38.

m=425, FV0=0

37 A

36 -

35 A

34

—— MW

450 455
m=635,n FV0=0

—— MW

6&0 6&5
m=775,n FV0=0

—o— MW

780.0 782.5 785.0

m=920,m FV0=0

777.5

-o— MW

920 925 930

40.

39.

39.

38.

38.

37.

40.

39.

39.

38.

38.

41.

40.

40.

39.

39.

m=470, FV0=0
397 —— MW
38
37
36
450 455 4éo
m=680,m FV0=0
0 -
—— MW
5 -
0 -
5 -
0 -
5 -
eéo 6é5 660
m=805,m FV0=0
—— MW
0 -
5 -
0 -
5 -
0 T T T
805 810 815
m=970,m FV0=0
0

-0— MW

970 975 980

40.

39.

39.

38.

38.

37.

40.

39.

39.

38.

40.

40.

39.

39.

m=525, FV0=0
—— MW
39
38
37 A
36 -
5&5 550 555
m=710,m FV0=0
0
—o— MW
5 -
0 -
5 -
0 -
5 T T T
710 715 720
m=835,m FV0=0
—— MW
0 -
5 -
0 -
5 -
855 8&0 8&5
m=1035m FVO=0
—-o— MW
5 -
0 -
5 -
0 -

1035 1040 1045
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632 BT | SEBEKG)) | Efes (BA/F) | ERes (5/R) |R= E3
06:35 72 50.0 10.8 5| 1RiR@06:35 B (KRFAEES)
07:05 72 50.0 10. 8 = {RRiB007:05 Bz (REAKEE)
07:35 72 50. 0 10.8 E 1BRi&e07:35 Bzl (RAERERE)
08:15 72 50. 0 10.8 = {Rige08:15 B (RAERSE)
08:45 72 50.0 10.8 5| {Rike08:45 Bz (REAERHS)
09:15 72 50.0 10.8 (=] 1BRi%@09:15 Bzh (KAEREE)
09:45 72 50.0 10.8 (=] 1Ri%@09:45 B3 (KRABMHEREEE)
10:15 72 50.0 10.8 [ =| 1BRi%@10:15 Bah (RAEREE)
10:45 72 50.0 10.8 (=] 1Ri%@10:45 Bzh (RAERE)
11:15 72 50.0 10.8 (& =| BRige11:15 Bzh (REFREE)
11:45 72 50.0 10.8 [ =| 1BRige11:45 Bzh (REPERESE)
12:15 72 50.0 10.8 (=] Bi%e12:15 Bzh (GRBEREE)
12:45 72 50.0 10.8 (2 =| 1BRige12:45 Bz (REFRER)
13:15 72 50. 0 10.8 E| {Rige13:15 Bzh (RE{EREE)
13:45 72 50. 0 10. 8 = RRiB013:45 Bz (REAKEE)
14:15 72 50. 0 10.8 E BRige14:15 Bz CGRAERESE)
14:45 72 50. 0 10.8 F BRige14:45 Bz CGRAERESE)
15:15 72 50.0 10. 8 =l RRiBe15:15 B3 (REAEEE)
15:45 72 50. 0 10.8 E BRige15:45 Bz CGRAERESE)
16:15 72 50.0 10.8 (=] 1Rige16:15 Bzh (KRAHERESE)
16:45 72 50.0 10.8 |2 =| 1BRi%@16:45 Bz (kAEREE)
17:15 72 50.0 10.8 FH 1BRige17:15 Bzh (GRAERE)
21t 1584.0 (22)%) 1100.0 32 03KEC: 2100.0, PH: 6.2

ERERBTCRIZAERIZIY (87 vs 74.0))
ERIASEPRIEBRES9. 0 ml.

REREBIPH (10.25) 5i&7EPH (6.0) RERK, BHNE
REXRGEPH (10.25) 5FMPH (6.5) RERK, BHRE
RE X 17k [B] RECE IR TR oK.

[E;&EC 3740.0 K75, EILFARECAE&iMLER
#[EKECE (1958.0 vs 3740.0) 35

RER B HEREC/PHE R K, RIRESIMAEEREE
LRGEBPH (10.4) 5igEE (6.0) REKK, BRE.
LOREBIPH (10.4) S5HREIEN (6.2) RERK, BERE.



G3-2_0, Day=17 (2025-05-29)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1201

40 -
910 4 - 1000
75
20 4220 45465 500
0 IJ Warning: lcol [FVI',| "FVO’'] missing 0
r0

IR
FRV

o
=

[=2]
o
1

S
o
1

N
o
1

FRV (ml plant-1)

—_
o

0.6
0.4+

0.2 A
Warning: lcol ["WC1',  "WC2'] missing

2908 A
TargetEC=1800. 0, | TargetSetEC=2100. 0

2100 e e e e e e e ————————— ]
2000 K
1 °
1900 1 —¢  ECB*10% o o 0, ®
® ECC ° o ® 4 ¢ o o
1800 - °
[ I ® 0 ¢ 0 o )
10 17— TargetPH=6.5, TargetSetPH=6.2 @ & 0000 ° ——  PHB*10% f

([ PHC

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

8_
O SRR SPRSyRpR Sy Sy S [ — = W) R S R—

|
200 4 ByInit @20 01:38: ET=840 Fg=950.0 Ro=148.0 oo
150 A

- 1000
100 -
50_ _500
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
2077w (W [ m [ [m [m [ [ | m [ m [m [m | m | m | m | m | m | m | m | ms | w5 | A | A | mE |
1
150 +—ByEt - @D17-19:08: ET=801 Fg=860.0 Ro=nan
- 1000

100 -
50_ _500
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
20°T7HE (W [ | m [ m [ m [ m W |W(Ex(5x(5x5x| M | % W [Z=| W [ W[ W [ B[ B [B [E=],,

1
150 + ByWoF}/ @D20-01:38: ET=1201 Fg=1100.0 Ro=10.0

1 - 1000
100 -
50 - - 500
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0ogl B | B | W | # | W | 8 | | M | B |55 |5% 5% 55| B | % | B (5= W | W | M W | WA (%=
0.6
0.4 -
0.2~
0.0
1500 ¢ — | t

[ ] | _obs

1000 4 —@— PPFD obs

500 -

80

60 -

RH
401 @ RH obs
[ ) RHo_obs

20 A

44 ® N o v

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



50

45 ~

40 -

35 -

T T T
400 600 800 1000

m=545,m FV0=0

48 -

46 -

44 -

42

40 ~

38 -

- ME

545 5%0 565
m=715,n FV0=0

48 -

46

44 -

—o— ME

715 750 7é5
m=885,n FV0=0

49 A

48 -

47 -

46 -

45 -

44 4

43 A

-o— ME

i
i
.

885 890 895

m=400, FV0=0

42 -

40 -

38 A

36

34

32 -

—0— ME

400 465 4%0
m=580,n FV0=0

48 -

46

44 -

42 -

40 -

—o— ME

i

580 5é5 560
m=765,n FV0=0

48 -

46 -

44

42 -

—o— ME

i
=

765 750 7%5
m=920,m FV0=0

49

48 -

47 -

46

45

-o— M_E

920 925 930

46 -

44

42

40 -

38 -

48

46

44

42 -

m=435, FV0=0
- ME
46 -
44
42
40 -
38 -
36 -
435 440 445
m=620,m FV0=0
- ME
48 -
46 -
44 1
42
620 625 630
m=815,m FV0=0
48

46

44 -

42

—o— M_E

48 -

47 -

46

45

44

43

42

815 850 8&5
m=955,n FV0=0

51

50

49 -

48 -

47 -

46 -

—o— M_E

50 A

49

48

47

955 960 965

m=500, FVO0=0
48 1 —o— ME
500 505 510
m=665,m FV0=0
F
665 670 675
m=855,m FV0=0
—e— ME
855 860 865
m=1000m FVO=0
51 1////‘\xk\‘\‘k"*°~1,ﬂo~.»4i~.f41~o
1000 1005 1010



28

T T T
600 800 1000

m=545,m FV0=0

34.0 A

33.

33.

32.

32.

31.5 4

31.0

—— MW

550 5%5
m=715,n FV0=0

35.

34.

34.

33.

33.

32.

32.

—— MW

750 755
m=885,n FV0=0

- MW

35 A

34

33 A

32 -

Z
by

890 895

m=400, FV0=0

—— MW

30. 5 A
30. 0 -
29.5 A
29.0 -
28.5 A

T T T

400 405 410
m=580,m FV0=0

34

33 A

32

—— MW

7

5é5 560
m=765,n FV0=0

34

33 A

32 -

—— MW

7

7%0 7%5
m=920,n FV0=0

765

36. 0

35.5 A

35.0 -

34.5 -

34.0 -

33.5 -

-— MW

920 925 930

34.

33.

33.

32.

32.

31.

36.

36.

35.

35.

34.

34.

m=435, FV0=0
33 4 —— MW
32
31
30 1
435 440 445
m=620,m FV0=0
35 |
—— MW
34
33 1
32
620 625 630
m=815,m FV0=0
—— MW
0 -
5 -
0 -
5 -
0 -
5 -
815 820 825
m=955,m FV0=0
51 —— MW
0 -
5 -
0 -
5 -
0 -

960 965

m=500, FV0=0
—— MW
33
32 1
31
T T T
500 505 510
m=665,m FV0=0
—— MW
34.5 -
34.0 -
33.5 -
33.0 1
32.5 -
32.0 1
T T T
665 670 675
m=855,m FV0=0
35 7 —— MW
34
33 1
32
855 860 865
m=1000m FVO=0
37.0 1 —o— MW
36.5 -
36.0 -
35.5 -
35.0 -
34.5 -
1000 1005 1010
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BflE] | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

e 06:05 74 40.0 8. 64 | fRi%e06:05 B3 CRAERE)
06:35 74 40.0 8. 64 = {Ri%@06:35 B (RAEHSE)
07:05 74 40.0 8. 64 E| {RRi%e07:05 Bz (REAERSE)
07:40 74 40.0 8. 64 = Bi8e07:40 B (GREAERESE)
08:10 74 40.0 8. 64 E| {Ri1g8@08:10 Bah (GRE{EREE)
08:40 74 40.0 8. 64 E| {Ri8008:40 Bah (REERSE)
09:10 74 40.0 8. 64 S| {Rig@09:10 Bz (RAERSE)
09:40 74 40.0 8. 64 = {Rig@09:40 B3 (RAERSE)
10:10 74 40.0 8. 64 E| {Rig&@10:10 B3h (RE{EREE)
10:40 74 40.0 8. 64 5| {Ri%@10:40 B3 (RAERSE)
11:10 74 40.0 8. 64 E BRige11:10 Bz CGRAERESE)
11:40 74 40.0 8. 64 S Rige11:40 B3 (RAERSE)
12:10 74 40.0 8. 64 =l Rige12:10 B3 (GRAERSE)
12:40 74 40.0 8. 64 5| Rike12:40 Bz (REAERS)
13:10 74 40.0 8. 64 5 {Ri%e13:10 Bz (GRAERSE)
13:40 74 40.0 8. 64 El BRi&e13:40 Bz GRAEREE)
14:10 74 40.0 8. 64 E BRige14:10 Bz CGRAERESE)
14:40 74 40.0 8. 64 S| {Rig014:40 B3 (RAERSE)
15:10 74 40.0 8. 64 5| Rige15:10 B3 (REERS)
15:40 74 40.0 8. 64 F BRige15:40 Bz CGRAERSE)
16:10 74 40.0 8. 64 El BRi&e16:10 Bz CGRAEREEE)
16:40 74 40.0 8. 64 E BRige16:40 Bz (GRAERESE)
17:10 74 40.0 8. 64 Sl Rige17:10 B3 (RAERSE)
17:40 74 40.0 8. 64 5| 1RiRe17:40 B (REERSE)
18:10 74 40.0 8. 64 F BRige18:10 Bz (GRAEREE)
18:40 74 40.0 8. 64 5| {Ri%018:40 Bz (FRAMERSE)
23t]1924.0 (263%) 1040.0 32 03KEC: 2100.0, PH: 6.1

EOREBIRT R IRAE RN (74 vs 59.0))
2RI\ L BRERE50. 0 ml.

BEXREBIPH (10.34) 5i&7EPH (6.0) REK K, HRE
FEXREIPH (10.34) 5FPH (6.5 REKK, FHRE
BE X i# B R ECEHE Hh k.

[o{&REC 4025.0 K5, ZEiNF{KECAE&HRER
HEEIRECE (1955. 0 vs 4025.0) 03
REXREBT I HEREC/PHESR K, FIREZINIRAR R
FURGEBIPH (10.2) 5i8FEE (6.0) REK K, BT,
LORGEBIPH (10.2) S5#REIEN (6.1) RERK, BRE.



G3-2_0, Day=16 (2025-05-28)

R e i e .
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1229

30 1 L 1000

20 A
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405 36868 - 500
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|J Warning: lcol [FVI',| "FVO’'] missing

60 4 mmm v
FRV

I
o
|

N
o
!

FRV (ml plant-1)

—_
o

0.6
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0.2 A
Warning: lcol ["WC1',  "WC2'] missing

2908 - A
TargetEC=1800. 0, | TargetSetEC=2100. 0
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o PHC
8_

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

1
300 4 ByInii: @D20 01:38: ET=425 Fg=500.0 Ro=71.0 t —
I - 1500 €
1 8
200 - : <
I - 1000 E
: —
1 5}
1
0 - 2 2 \.\ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
30l B | B B | B | B | B|B|B|[B| B 5 5 5 5 5 5 5 5 5 5 5 5 5 5 1500 2
1 B c
ByEt @D16 19:08: ET=493 Fg=500.0 Ro=nan | e @ © %’_
. ~
200 : - 1000 E
1
L 1 D
100 A e e — —eo—o—eo—o—o 50 &
1 5}
1
0 | — —L ’ J I I I I \f\ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
30d B B | B | BB | B| B |[B|B]| B 5 B | B [ B | B 5 5 5 5 5 5 5 5 5 1500 2
1 B [
ByWoF}/ @D20 01:38: ET=1229 Fg=1040.0 Ro=6.0 e @ © %’_
. ~
200 : —o—9© - 1000 g
! —
100 - : - 500 £
1 5}
1
1 O_Ij J—L ’ J 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
gl P | ¥ | W | w5 | W | # | % | #s | w5 | W | W | W | Fs | B5 | W | ® | W5 | Fs | Bs | R | W | W5 | B | B
0.6
0.4+
0.2+
0.0
—_— 4

1500 ~ o | _obs

—@— PPFD obs
1000 -

500 A

80

60

RH
401 @  RH_obs
(] RHo_obs




47.5

45.0 -

42.5 -

40.0

37.5 -

35.0

——

M_E

400

660 860
m=605,n FV0=0

T
1000

46

44 -

42

40 -

——

M_E

GiO 6%5
m=855,n FV0=0

42 -

40 ~

38 -

36

——

M_E

855

860 8é5
m=395,n FV0=0

37.0

36.5

36. 0

35.5

35. 0 -

34.5 A

34.0 -

——

M_W

395

400 405

m=395, FV0=0

44 -

42

40 -

38

36

——

M_E

460 465
m=665,n FV0=0

46 -

44 -

42

40 -

——

M_E

6%0 6;5
m=920,n FV0=0

42 -

40 A

38

36

34 -

——

M_E

920

Qé5 950
m=455,n FV0=0

38

37 A

36

35 A

——

M_W

455

460 465

m=455, FV0=0

48 -

46

44 -

42

40 -

—&— ME

455

460 4é5
m=730,n FV0=0

46

44 -

42 -

40 -

38 -

—&— M_E

7é5 7&0
m=990,n FV0=0

42

40 -

38 -

36

34

—&— M_E

990

955 10b0
m=540,n FV0=0

38 A

37 A

36

35 A

-o— MW

540

545 550

m=540, FV0=0

48 -

46 -

44 -

42

40 -

——

M_E

5&5 560
m=800,n FV0=0

44 -

42

40 -

38 -

36 -

——

M_E

805 810

38 -

36

34

32 -

30 A

M_W

400

660 860
m=605,n FV0=0

1000

37 A

36

35 A

34 -

—o—

M_W

605

610 615




m=665, FV0=0

36. 5

36. 0

35.5 -

35. 0 -

34.5 A

34.0

—0—

M_W

T
665

T T
670 675

m=920,m FV0=0

33 A

32 -

31 A

—0—

M_W

T
920

T
925 930

33.

32.

32.

31.

31.

30.

30.

m=730, FV0=0

36

35 A

34

33 -

—— MW

T
730

T T
735 740

m=990,m FV0=0

—— MW

T
990

T T
995 1000

34.

34.

33.

33.

32.

32.

31.

m=800, FV0=0

——

MW

800

T
805 810

m=835, FV0=0

34.0 A

33.5 -

33. 0 -

32.5 -

32.0 -

31.5 -

31.0 -

—0—

M_W

855

T T
860 865




